Ses“tevan/‘e,oats"t‘e vecnje (n eelo s konstanto

3t 8= g[+|[+]3

=| 4 {10~ PV 4-[_1_1/[0= +
F+8 = 1=] 15 2:=3.% 1§ = 15
Q4 9= =] 1% It =3= 34[= |34
M4 14,8026 = 1o]8026[F|[FM[=] 32,8026
“?,OO?_'/‘/L 70L6= ?COOLEIJ 6 199 U
F4513F +4802¢= Hs[]Ht[z] 7475996
4,5 - e ® |
T 2 AEEERESE o s
alc |
= EB3H4AE]El 4l sk 5] 0.5

Dele s spomint

(24,07 X S5, 3) +(3,5x5,8)= £4[-|or[X[53 B3[)5 (Xs() 93] 449,974

22,3X7 =28[-]5[X| 3] 1951l o i [

173 t 16 = A3 [z] 1398 »
312 - 42+ 1,8 =342 420 781 237, 8 e

MR] 6 64,9
B+4) X

R )
s = |4k (S FE 5] &

(583) X 6+(-15K2)

o gz 9 =5E SRR B+ R B S B EE -

Delo 2 oklepoj’
[’%’X(SH‘)X(‘HS)X (S+0] FL2X(344) X (q+4) ] =

E 15 [0 38 § DI 4 B 30E0SH100+0 2 {0 38 100« ADNE
5080




